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§3.3 Product and Quotient Rules -- Student Notes

The Product Rule If fand g are both differentiable, then:
d
o [f()g(x)] = /'(0)g()+ f()g'(x)

Bxamplel:  h(o)=(x+1)(27)
P = (2 (2)+ (5 +1)(h2-2%)
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L If h(x)=xeX, find h'(x).  h (k) = (;L)(e‘) + (){ex}
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2. Use two different methods to differentiate the function: A(¢) = \/; (1 — t).
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7 JE Z. The Quotient Rule If fand g are both differentiable, then:
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Example 2: h(x)=;c32j; 3. Let y—xx+_xl_62,then find %
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Find an equation of the tangent line to the curve y =—e—x— at the point (l, e). ‘
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Ay _(x)(e) =M Sicethe sope of Ex) a x=l i3 0
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@ Given f(x)= " , find E[ 7 (x)]. |
Hint: re-write f(x) before taking the derivative. %
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Practice. Find each of the following derivatives: —
@  Lw-renetees)] @4 {Z41)eperia) = (i)
o : x° - — N\

222\ (5 e - 2200 (P )
= (3X = 2) (e -3) +( ) @) ) (ot = )
mz
= 2x (Y :—ja’ér)f
e (¥
ol d(2x+1 d (ne =
@ &5 OFE)
= (3 2) — (e (W 3 - (22 +EE)

2% > S (\,,2_»\-\\

® L) @ 4]

~
Ll o) ~@) 9
?': &» DN .
- lam T T s e (ioseas) - S
_ %[\ Zk\ -5)

oo \ 6
= STH




